
08-06-2025

Catalyst Titanium Cross Braces - Growth 



08-06-2025

Round-style cross braces If changing from oval-style aluminum cross braces, lower frame pivots and cross brace hardware are

required.
 

Item Number Part Number Description Quantity

3-10 501398 Round-Style Cross Brace Hardware Kit CAT 1

1a, 2 100295 Cross Brace Titanium Right 14 x 14 CAT 1

1b, 2 100338 Cross Brace Titanium Left 14 x 14 CAT 1

1c, 2 100296 Cross Brace Titanium Right 14 x 15 CAT 1

1d, 2 100339 Cross Brace Titanium Left 14 x 15 CAT 1

1e, 2 100297 Cross Brace Titanium Right 14 x 16 CAT 1

1f, 2 100340 Cross Brace Titanium Left 14 x 16 CAT 1

1g, 2 100298 Cross Brace Titanium Right 14 x 17 CAT 1

1h, 2 100341 Cross Brace Titanium Left 14 x 17 CAT 1

1i, 2 100299 Cross Brace Titanium Right 14 x 18 CAT 1

1j, 2 100342 Cross Brace Titanium Left 14 x 18 CAT 1

1k, 2 100300 Cross Brace Titanium Right 15 x 14 CAT 1

1l, 2 100343 Cross Brace Titanium Left 15 x 14 CAT 1

1m, 2 100301 Cross Brace Titanium Right 15 x 15 CAT 1

1n, 2 100344 Cross Brace Titanium Left 15 x 15 CAT 1

1o, 2 100302 Cross Brace Titanium Right 15 x 16 CAT 1

1p, 2 100345 Cross Brace Titanium Left 15 x 16 CAT 1

1q, 2 100303 Cross Brace Titanium Right 15 x 17 CAT 1

1r, 2 100346 Cross Brace Titanium Left 15 x 17 CAT 1

1s, 2 100304 Cross Brace Titanium Right 15 x 18 CAT 1

1t, 2 100347 Cross Brace Titanium Left 15 x 18 CAT 1

1u, 2 100305 Cross Brace Titanium Right 15 x 19 CAT 1

1v, 2 100348 Cross Brace Titanium Left 15 x 19 CAT 1

1w, 2 100306 Cross Brace Titanium Right 15 x 20 CAT 1

1x, 2 100349 Cross Brace Titanium Left 15 x 20 CAT 1

1y, 2 100307 Cross Brace Titanium Right 16 x 14 CAT 1



08-06-2025

Item Number Part Number Description Quantity

1z, 2 100350 Cross Brace Titanium Left 16 x 14 CAT 1

1aa, 2 100308 Cross Brace Titanium Right 16 x 15 CAT 1

1ab, 2 100351 Cross Brace Titanium Left 16 x 15 CAT 1

1ac, 2 100309 Cross Brace Titanium Right 16 x 16 CAT 1

1ad, 2 100352 Cross Brace Titanium Left 16 x 16 CAT 1

1ae, 2 100310 Cross Brace Titanium Right 16 x 17 CAT 1

1af, 2 100353 Cross Brace Titanium Left 16 x 17 CAT 1

1ag, 2 100311 Cross Brace Titanium Right 16 x 18 CAT 1

1ah, 2 100354 Cross Brace Titanium Left 16 x 18 CAT 1

1ai, 2 100312 Cross Brace Titanium Right 16 x 19 CAT 1

1aj, 2 100355 Cross Brace Titanium Left 16 x 19 CAT 1

1ak, 2 100313 Cross Brace Titanium Right 16 x 20 CAT 1

1al, 2 100356 Cross Brace Titanium Left 16 x 20 CAT 1

1am, 2 100314 Cross Brace Titanium Right 17 x 14 CAT 1

1an, 2 100357 Cross Brace Titanium Left 17 x 14 CAT 1

1ao, 2 100315 Cross Brace Titanium Right 17 x 15 CAT 1

1ap, 2 100358 Cross Brace Titanium Left 17 x 15 CAT 1

1aq, 2 100316 Cross Brace Titanium Right 17 x 16 CAT 1

1ar, 2 100359 Cross Brace Titanium Left 17 x 16 CAT 1

1as, 2 100317 Cross Brace Titanium Right 17 x 17 CAT 1

1at, 2 100360 Cross Brace Titanium Left 17 x 17 CAT 1

1au, 2 100318 Cross Brace Titanium Right 17 x 18 CAT 1

1av, 2 100361 Cross Brace Titanium Left 17 x 18 CAT 1

1aw, 2 100319 Cross Brace Titanium Right 17 x 19 CAT 1

1ax, 2 100362 Cross Brace Titanium Left 17 x 19 CAT 1

1ay, 2 100320 Cross Brace Titanium Right 17 x 20 CAT 1

1az, 2 100363 Cross Brace Titanium Left 17 x 20 CAT 1

1ba, 2 100321 Cross Brace Titanium Right 18 x 14 CAT 1



08-06-2025

Item Number Part Number Description Quantity

1bb, 2 100364 Cross Brace Titanium Left 18 x 14 CAT 1

1bc, 2 100322 Cross Brace Titanium Right 18 x 15 CAT 1

1bd, 2 100365 Cross Brace Titanium Left 18 x 15 CAT 1

1be, 2 100323 Cross Brace Titanium Right 18 x 16 CAT 1

1bf, 2 100366 Cross Brace Titanium Left 18 x 16 CAT 1

1bg, 2 100324 Cross Brace Titanium Right 18 x 17 CAT 1

1bh, 2 100367 Cross Brace Titanium Left 18 x 17 CAT 1

1bi, 2 100325 Cross Brace Titanium Right 18 x 18 CAT 1

1bj, 2 100368 Cross Brace Titanium Left 18 x 18 CAT 1

1bk, 2 100326 Cross Brace Titanium Right 18 x 19 CAT 1

1bl, 2 100369 Cross Brace Titanium Left 18 x 19 CAT 1

1bm, 2 100327 Cross Brace Titanium Right 18 x 20 CAT 1

1bn, 2 100370 Cross Brace Titanium Left 18 x 20 CAT 1

1bo, 2 100328 Cross Brace Titanium Right 19 x 16 CAT 1

1bp, 2 100371 Cross Brace Titanium Left 19 x 16 CAT 1

1bq, 2 100329 Cross Brace Titanium Right 19 x 17 CAT 1

1br, 2 100372 Cross Brace Titanium Left 19 x 17 CAT 1

1bs, 2 100330 Cross Brace Titanium Right 19 x 18 CAT 1

1bt, 2 100373 Cross Brace Titanium Left 19 x 18 CAT 1

1bu, 2 100331 Cross Brace Titanium Right 19 x 19 CAT 1

1bv, 2 100374 Cross Brace Titanium Left 19 x 19 CAT 1

1bw, 2 100332 Cross Brace Titanium Right 19 x 20 CAT 1

1bx, 2 100375 Cross Brace Titanium Left 19 x 20 CAT 1

1by, 2 100333 Cross Brace Titanium Right 20 x 16 CAT 1

1bz, 2 100376 Cross Brace Titanium Left 20 x 16 CAT 1

1ca, 2 100334 Cross Brace Titanium Right 20 x 17 CAT 1

1cb, 2 100377 Cross Brace Titanium Left 20 x 17 CAT 1

1cc, 2 100335 Cross Brace Titanium Right 20 x 18 CAT 1



08-06-2025

Item Number Part Number Description Quantity

1cd, 2 100378 Cross Brace Titanium Left 20 x 18 CAT 1

1ce, 2 100336 Cross Brace Titanium Right 20 x 19 CAT 1

1cf, 2 100379 Cross Brace Titanium Left 20 x 19 CAT 1

1cg, 2 100337 Cross Brace Titanium Right 20 x 20 CAT 1

1ch, 2 100380 Cross Brace Titanium Left 20 x 20 CAT 1

2 100803 Tube End Plug 7/8" 4

3 100660 M6 x 80mm CLS8.8 DIN931 HHCS ZC 2

4 100746 M6 Flat Washer Blk Zn 1

5 100658 M6 Nylock Nut Blk Zn 3

6 100678 M6 x 110 CLS8.8 DIN931 HHCS ZC 1

7 000054 Saddle 7/8" 4

8 100880 1/4" Plastic Spacer 2

Not used on 14" wide chairs

9 105019 3/16" Plastic Spacer 2

Not used on 14" wide chairs

10 100704 M6 x 90 CLS8.8 DIN931 HHCS ZC 2

11 000001 Lower Frame Pivot CAT 2


